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Part 1: Reading Comprehension I s 80 )

Read the following article and answer questions (1) — (8) by writing A, B, C or D.

gogboboooooooobooonbooboo

Source:

Mainichi Japan (November, 2016). Al system beats national average score on university entrance exam.
Retrieved from http://mainichi.jp/english/articles/20161115/p2a/00m/0Ona/023000c [Accessed: May 23,
2017].






(1)

2)

3)

4)

According to the article, what was announced on November 14th? (10 points)

A) that an Al system has new robotic legs

B) that an Al system had been taking entrance exams since 2013

C) that an Al system had scored higher than average on a mock entrance exam
D) that an Al system will start taking entrance exams from 2018

Based on the article, what was the original purpose for developing the Al system? (10 points)

A) to discover the limitations of a new robotic arm from Denso Wave Inc.
B) to discover how far ahead of human test-takers Al could be

C) to discover the limitations and possibilities of Al

D) to discover the entry requirements for the University of Tokyo

According to the article, what was the Al system’s score on the mock National Center Test for
University Admissions? (10 points)

A) 454.8 points
B) 525 points
C) 80%

D) 27.7%

Based on the article, how did the Al system perform on the secondary exam sections for the
University of Tokyo? (10 points)

A) The Al system achieved a higher score than average.

B) The Al system achieved the same average score as the human test-takers.
C) The Al system achieved a lower score than average.

D) All human test-takers achieved a higher score than the Al system.
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According to the article, which university’s entrance exam is the Al system unlikely to pass?

(10 points)
A) Meiji University
B) Keio University
C) Doshisha University
D) Chuo University
According to the article, what is the affiliation of the development team leader? (10 points)

A) Waseda University

B) Denso Wave Inc.

C) University of Tokyo

D) National Institute of Informatics

Based on the article, how was the Al system able to write its answers to the world history section on
the University of Tokyo’s secondary entrance exam? (10 points)

A) It had a camera on its left hand and a pen in its right hand.
B) It held a pen in its left hand and a pencil in its right hand.
C) Itheld a pen in its right hand and a pencil in its left hand.
D) It had a camera on its right hand and a pen in its left hand.

Based on the article, what was the score of the Al system in the world history section on the
University of Tokyo’s secondary entrance exam? (10 points)

A) approximately 76%
B) approximately 52%
C) approximately 80%
D) approximately 48%




Part 2: Writing I s 50 %)

Write about 100 words in English explaining some advantages and disadvantages of university entrance

examinations.
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Part 3: Reading Comprehension IT (s 40 )

Read the following article and answer questions (1) — (3) by writing A, B, C or D, and question (4) as
instructed.
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Source:

Tokushima, S. (May, 2017). Softbank uses Al to assess students’ job applications. Retrieved from
http://www.asahi.com/ajw/articles/AJ201705300028.html [Accessed: June 9, 2017].



(1

2)

3)

4)

According to the article, why is Softbank using Watson?

(10 points)

A) to grade two questions asked by Softbank

B) to increase the time spent screening candidates
C) to reduce the time spent screening candidates
D) to only grade high and low-marked entry sheets

According to the article, how are all the candidates’ final results determined?

(10 points)

A) Watson grades 400 answers given by students.

B) Watson provides five values given by the company.

C) Watson evaluates all the answers given by candidates.

D) Watson complements the grades given by human officials.

Based on the context within the article, what does (Dchampions mean?

(10 points)

A) winners
B) promote
C) challenge
D) number one

Based on the article, mark each statement as either TRUE (o) or FALSE (x).

(10 points)

A) Watson selects new Softbank employees.

B) Watson teaches Softbank to recognize good and bad answers.
C) Applicants must write about their achievements.

D) Watson provided 29 marks in May.

E) An applicant’s highest grade was 1,500.




Part 4: Writing IT s 30 45)

Write about 60 words in English explaining your greatest achievement.
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